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[SF7FE8A 4]
(B4, M)

H H X5 (=7 X %A
. AR5y 4 20,000
BEt 11 61,230
o AR5y 4 26,000
BEt 19 101,800
s AR5y 2 7,040
BEt 13 79,140
RS oA
BEt 1 9,000
B - HES éa%
BEt 1 10,000
Vo Ry
BEt 7 66,685
Z D éaﬁ
BEt 0 0
Agt AR5y 10 93,040
BEt 44 323,895
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[(FH7F7H 7]

(B4, M)

H H X (=7 %R
N AR5y 3 20,000
BEt Y/ 41,230
- AR5y 6 26,300
BEt 15 75,800
SRS AR5y 4 25,000
BEt 11 72,100
RS TAn
BEt 1 9,000
e - e é\ﬂdé}
BEt 1 10,000
- AR5y 1 2,975
BEt 7 66,685
Z D éaﬁ
BEt 0 0
st AR5y 14 14,275
REt 34 270,815
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[(FH7F6H 7]

(B4, M)

H H X (=7 %R
N AR5y 2 10,000
BEt 4 21,230
- AR5y 2 10,000
BEt 9 49,500
SRS AR5y 2 10,000
BEt Y/ 47,100
RS TAn
BEt 1 9,000
e - e é\ﬂdé}
BEt 1 10,000
- AR5y 2 11,260
BEt 6 63,710
Z D éaﬁ
BEt 0 0
st AR5y 41,260
HEt 20 196,540
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[SF17%E5A8 5]

(B4, M)

H H X5 (=7 X %A
AT, TR
BEt 2 11,230
o AR5y o 29,500
BEt Y/ 39,500
s AR5y o 37,100
BEt o 37,100
s AR5y 1 9,000
BEt 1 9,000
o - WL /%¥% 1 10,000
BEt 1 10,000
- AR5y 2 21,600
BEt 4 92,450
Z D éaﬁ
BEt 0 0
Ag AR5y 14 103,200
BEt 20 155,280

KBTI T7TE4 NSO O TT,
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[SF17%F4 A 5]
(NG5 D
HH X 55 3% %A
LR %y 2 11,230
NG -
B 2 11,230
R LR %y 2 10,000
o e 2 10,000
LR %y 0 0
R4
B 0 0
LR %y 0 0
RS -
B3t 0 0
LR %y 0 0
Zhé - B4
B2 0 0
‘ LR %y 2 30,850
A
B2 2 30,850
LB 5y 0 0
= D, -
B3t 0 0
) LR %y 6 52,080
At
B2 6 52,080
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